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Section I Use of English

Directions:
Read the following text. Choose the best word(s) for each numbered blank and mark A, B,
C or D on ANSWER SHEET 1. (10 points)

Punishment depends as much on politics as it does on crime. crime rates have been sta-
ble in recent years but there’s been a striking increase in the prison population. And because
populism is coming so much to 1 the political agendas, politicians are advocating sharp in-
creases in penalties to take 2  of public unease. The question is how far this will get. In
the 21st century weak governments might try to win legitimacy by being especially 3 on
crime. That could mean high prison populations and draconian 4  such as those adopted in
the United States in recent years.

Luckily ,there remain significant differences between the UK and the USA. social divi-
sions are less exfreme and racial 5 are not as high. 6 there is a great deal of minor vio-
lent crime here,rates of murder— 7 particularly fuel public anxieties—are much 8 be-
cause guns have not been so widely 9 .It’s unlikely that this will change greatly: the
_ 10 to tighten up the gun laws in Britain will continue,and all 11 the toughest criminals
will still have a view about what is and what isn’ t “acceptable” violence.

So I don’t believe we will see a huge 12 in violent crime,but I 13  rates of prop-
erty crime and crimes of opportunity to remain high. There will also be much more electronic
fraud because it’s so hard to 14 and prevent. This is an important problem for business,
but not one that 15 much popular agitation.

It’ s unlikely we’ 1l see the return of the death penalty: the police are 16 about its ef-
fectiveness and its reintroduction would be highly problematic 17 the recent Council of
Europe protocol outlawing its use. 18  punishment remains a pretty accurate temperature
gauge,though: 19 there is significant political pressure for the death penalty,it’sa 20

of harsher afttitudes towards crime generally.

1. [A] govern [ B} dominate [C] control [ D] manipulate
2. [ A] responsibility {B’ place {C] measures [ D] advantage

3. [A] tough [B] tight [ C] lenient [ D] malignant

4. [A] convictions { B] principles [C] punishments [ D] arrangements
5. [ A] pressures [B] depressions [ C] tensions (D] stresses

6. [ A] Because {B] Although [C] Since [ D] However

7. [A] what [B] that (C1 whether [ D] which

8. [A] lower [ B] higher [C] more [D] less



9. [A] diffused [ B] dispersed [ C] divided [D] defected

10. [ A fashion [ B] direction [C] trend [D] orientation
11. [A] but [ B] that [C] only [ D] virtually
12. [A] change [B] rise [C] drop [ D] decline
13. [ A] expect [ B] suppose [ C] assume [D] conceive
14. [A] scan [ B] monitor [ C] observe [D] detect

15. [A] rises [ B] raises [ C] arouses [ D] arises

16. [ A] suspicious [ B] skeptical [ C] arrogant [D] indignant
17. [A] given [ B] provided [ C] concerned [D] considered
18. [A] Major [ B] Critical [ C] Capital [D] Significant
19. [A] however [ B] whenever [ C] whatever [ D] wherever
20. [A] symbol [B] sign [ C] signature [D] symptom

Section I Reading Comprehension

Part A

Directions
Read the following four texts. Answer the questions below each text by choosing A, B, C or
D. Mark your answers on ANSWER SHEET 1. (40 points)

Text 1

In most parts of the world, climate change is a worrying subject. Not so in California. At a

recent gathering of green luminaries—in a film star’ s house, naturally, for that is how seri-

might. it has made his political career.

Although California has long been an environmentally-conscious state, until recently

greens were concerned above all with smog and redwood trees. “ Coast of Dreams” , Kevin

Starr’ s authoritative history of contemporary California, published in 2004, does not mention

his other policies. These days it can seem as though he works on nothing else.

Mr. Schwarzenegger’ s transformation from screen warrior to eco-warrior was completed
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relatively clean state. If it were a country it would be the world’ s eighth-biggest economy , but
only its 16th-biggest polluter, Its big problem is transport—meaning, mostly, cars and trucks,
which account for more than 40% of its greenhouse-gas emissions compared with 32% in
America as a whole. The state wants to ratchet down emissions limits on new vehicles,begin-

ning in 2009. Mr. Schwarzenegger has also ordered that, by 2020, vehicle fuel must produce

10% less carbon: in the production as well as the burning,so a simple switch to corn-based

at a Mr. Olympia contest. Arizona’ s climate-change scholars decided to set a target of cutting
the state’s emissions to 2000 levels by 2020. But Janet Napolitano, the governor, was deter-
mined not to be out-muscled by California. She has declared that Arizona will try to return to
2000 emission levels by 2012.

California has not just inspired other states; it has created a vanguard that ought to be

consider. But California is finding it easier to export its policies than to put them into practice
at home. In one way, California’s self-confidence is fully justified. It has done more than any
other state—let alone the federal government—to fix America’ s attention on climate change.
It has also made it seem as though the problem can be solved. Which is why failure would be
such bad news. At the moment California is a beacon to other states. If it fails,it will become
an excuse for inaction.
21. According to the author,Mr. Arnold Schwarzenegger is cheerful chiefly because

[ A] climate change is not worrying California anymore.

[ B] even film stars become serious about environmental protection.

[ C] he has benefited personally from California’ s achievements.

[ D] his style of administration is always dominated by self-satisfaction.
22. Why did Mr. Schwarzenegger seem to be working on nothing else?

[ A] Because California has always been environmentally-conscious.

[ B] Because Kevin Starr failed to talk about climate change in his book.

[ C] Because his call for alternative fuels has been most strongly echoed.

[ D] Because all his other policies met with more acclaim than resistance.
23. Corn-based ethanol might not be chosen as an alternative because

[ A] carbon reduction in both fuel production and burning might be hard.

[ B] California also intends to cut down emissions from new vehicles.

[ C] it is almost impossible for vehicle fuel to produce 10% less carbon.

[ D] California’s corns are chiefly transported by cars and trucks.
24. Janet Napolitano is mentioned in the passage to show that

[ A] Arizona is determined to out-muscle California.

3



[ B] female governors often set unrealistic goals.
[ C] Arizona will start a Mr. Olympia contest with California.
[ D] California’s actions have produced some positive effects.
25. It can be inferred from the text that
[ A] California needs further actions to inspire other states.
[ B] California has set a perfect model for other states to follow.
[ C] California will become an excuse for inaction for other states.

[ D] California might find it difficult to execute its own policies.
Text 2

Michael Porter, who has made his name throughout the business community by advoca-
waters, arguing that competition can save even America’s troubled health-care system, the
largest in the world. Mr. Porter argues in “ Redefining Health Care” that competition, if
properly applied, can also fix what ails this sector.

That is a bold claim, given the horrible state of America’s health-care system. Just con-
sider a few of its failings: America pays more per capita for health care than most countries,
but it still has some 45m citizens with no health insurance at all. While a few receive out-

standing treatment, he shows in heart-wrenching detail that most do not. The system,

errors and limited access to care. ”
Many observers would agree with this diagnosis, but many would undoubtedly disagree

with this advocacy of more market forces. Doctors have an intuitive distrust of competition,

Mr. Porter strongly disagrees. He starts by acknowledging that competition, as it has
been introduced to America’s health system, has in fact done more harm than good. But he
argues that competition has been introduced piecemeal, in incoherent and counter-productive
ways that lead to perverse incentives and worse outcomes: “health-care competition is not fo-
cused on delivering value for patients,” he says.

Mr. Porier offers a mix of solutions to fix this mess, and thereby to put the sector on a

genuinely competitive footing. First comes the seemingly obvious ( but as yet unrealized )

plans, doctors, clinics and hospitals, to competition “at the level of medical conditions,

which is all but absent”. The authors argue that the right measure of “value” for the health

4



sector should be how well a patient with a given health condition fares over the entire cycle
of treatment, and what the cost is for that entire cycle. That rightly emphasizes the role of
early detection and preventive care over techno-fixes, pricey pills and the other failings of to-
day’s system.

If there is a failing in this argument, it is that he sometimes sirays toward naive optim-
ism. Mr. Porter argues, for example, that his solutions are so EQF}}?}}_Q{{?_G_B_S__i_C_ﬂ_l that private
actors in the health system could forge ahead with them profitably without waiting for the
government to fix its policy mistakes. That is a tempting notion, but it falls into a trap that
economists call the fallacy of the $20 bill on the street. If there really were easy money on
the pavement, goes the argument, surely previous passers-by would have bent over and
picked it up by now.

In the same vein, if Mr. Porter’s prescriptions are so sensible that companies can make
money even now in the absence of government policy changes, why in the world have they
not done so already? One reason may be that they can make more money in the current sub-
optimal equilibrium than in a perfectly competitive market—which is why government action
is probably needed to sweep aside the many obstacles in the way of Mr. Porter’ s powerful
vision.

26. What seems to be the biggest problem with America’s health care system?

[ A] American spends more money on health care than on other services.

[B] Most Americans couldn’t get their health insurance till their old age.

[ C] Most American hospitals do not offer outstanding treatment to patients.

[D] The costs of health care are not steered towards a health direction.

27. The word “perverse” (line 5, paragraph 2) is closest in meaning to

[ A] harmful.

[B] economic.

[C] strong.

[D] reversed.

28. Mr. Porter’ s argument seems to be based on the assumption that

[ A} doctors do not have faith in the value of competition.

[ B] the present health care competition is not patient oriented.

[ C] Britain’s National Health Service is a successful example.

[ D] health competition will do more good than harm in the long run.

29. Which of the following might Mr. Porter propose to solve the problem?

[ A] More statistics should be publicized.

[ B] Improve a given patient’ s health condition.

[ C] More advanced techno-fixes should be offered.

[ D] Improve the entire cycle of treatment.

30. We can infer from the last two paragraphs that
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[ A] there is no easy money on the pavement for passers by to pick up.
[B] Mr. Porter is very likely to fall in a trap set up by the economists.
[ C] competition alone is not enough to cure the health care system.

[D] only government actions can sweep aside the obstacles along the way.
Text 3

If you are a tourist interested in seeing a baseball game while in New York, you can find
out which of its teams are in town simply by sending a message to AskForCents. com.In a

few minutes, the answer comes back, apparently supplied by a machine, but actually com-

posed by a human. Using humans to process information in a machine-like way is not new: it
was pioneered by the Mechanical Turk, a famed 18th-century chess-playing machine that was
operated by a hidden chessmaster. But while computers have since surpassed the human
brain at chess, many tasks still baffle even the most powerful electronic brain.

For instance, computers can find you a baseball schedule, but they cannot tell you di-

rectly if the Yankees are in town. Nor can they tell you whether sitting in the bleachers is a

good idea on a first date. AskForCents can, because its answers come from people. “What-

ever question you can come up with, there’ s a person that can provide the answer—you

don’t have the inflexibility of an algorithm-driven system,”

says Jesse Heitler, who devel-
oped AskForCents. Mr. Heitler was able to do this thanks to a new software tool developed
by Amazon, the online retailer, that allows computing tasks to be farmed out to people over
the internet. Aptly enough, Amazon’s system is called Mechanical Turk.

Amazon’s Turk is part toolkit for software developers, and part online bazaar: anyone
with internet access can register as a Turk user and start performing the Human Intelligence
Tasks (HITs) listed on the Turk website ( mturk. com). Companies can become “request-
ers” by setting up a separate account, tied to a bank account that will pay out fees, and then
posting their HITs. Most HITs pay between one cent and $5. So far, people from more than
100 countries have performed HITs, though only those with American bank accounts can re-
ceive money for their work; others are paid in Amazon gift certificates.

Mr. Heitler says he had previously tried to build a similar tool, but concluded that the in-
frastructure would be difficult to operate profitably. Amazon already has an extensive soft-

ware infrastructure designed for linking buyers with sellers, however, and the Turk simply

extends that existing model. Last November Amazon unveiled a prototype of the system,

“

which it calls “artificial artificial intelligence”. The premise is that humans are vastly superi-

or to computers at ta;;l;s such as pattern recognition, says Peter Cohen, director of the pro-
ject at Amazon, so why not let software take advantage of human strengths?

Mr. Cohen credits Amazon’s boss, Jeff Bezos, with the concept for the Turk. Other
people have had similar ideas. Eric Bonabeau of Icosystem, an American firm that builds

software tools modeled on natural systems, has built what he calls the “Hunch Engine” to

6



combine human intelligence with computer analysis. The French postal service, for example,

has used it to help its workers choose the best delivery routes, and pharmaceutical research-

ers are using it to determine molecular structures by combining their gut instincts with known

results stored in a database. And a firm called Seriosity hopes to tap the collective brainpow-

er of the legions of obsessive players of multiplayer online games such as “ World of War-

craft” , by getting them to perform small real-world tasks (such as sorting photographs)

while playing, and paying them in the game’s own currency.

31.

32.

33.

34.

35.

The last sentence of the first paragraph means

[A] computers have never been superior to human intelligence.

[ B] human intelligence can still outperform computers.

[C] computers will eventually baffle many tasks humans give them.

[ D] human intelligence will fail in the face of electronic chessmasters.
AskForCents. com is operated on the basis of

{ A] computers that can tell people information about baseball schedules.
[B] a software that allows humans to provide answers through computers.
[C] the flexibility of an algorithm-driven system developed by Mr. Heitler.
[ D] a software that allows people to solve problems through the network.
Which of the following is true about registered Turk users?

[A] They get rewards by solving posted problems.

[ B] They set up a separate account as companies do.

[ C] They pay out fees to other users for their help.

[D] They receive cash after successfully performing HITs.

Amazon is successful with Turk is probably because

[ A] Turk has very strong software infrastructure developing potentials.
[B] its previous model has laid a solid foundation for an extension.

[C] its system is based on artificial artificial intelligentce.

[ D] Turk is profitably adaptive to almost any software infrastructure.
Seriosity is mentioned in the passage to

[ A] show the extensive influence of Turk on the commercial world.

[ B] substantiate endeavors to apply human intelligence to computer analysis.
[ C] show the sirength of collective brainpower of computer game players.
[ D] substantiate people’s abilities of sorting photographs while playing games,

Text 4

Mark Twain once observed that giving up smoking is easy. He knew, because he’d done

it hundreds of times himself. Giving up for ever is a trifle more difficult, apparently, and it is

well known that it is much more difficult for some people than for others. Why is this so?

Few doctors believe any longer that it is simply a question of will power. And for those
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rethink. A study conducted by Jacqueline Vink, of the Free University of Amsterdam, used a
database called the Netherlands Twin Register to analyze the smoking habits of twins. Her re-
sults, published in the Pharmacogenomics Journal, suggest that an individual’ s degree of
nicotine dependence, and even the number of cigarettes he smokes per day, are strongly ge-
netically influenced.

The Netherlands Twin Register is a voluntary database that contains details of some
7,000 pairs of adult twins ( aged between 15 and 70) and 28,000 pairs of childhood twins.

Such databases are prized by geneticists because they allow the comparison of identical twins

Dr. Vink did not make use of that fact. For her, the database was merely a convenient
repository of information. Instead of comparing identical and fraternal twins, she concentrat-
ed on the adult fraternal twins, most of whom had completed questionnaires about their hab-
its, including smoking, and 536 of whom had given DNA samples to the register.

The human genome is huge. It consists of billions of DNA “letters” , some of which can
be strung together to make sense (the genes) but many of which have either no function, or
an unknown function. To follow what is going on, geneticists rely on markers they have
identified within the genome. These are places where the genetic letters may vary between
individuals. If a particular variant is routinely associated with a particular gh¥§ig_q} feature or
a behavior pattern, it suggests that a particular version of a nearby gene is influencing that
feature or behavior.

Dr. Vink found four markers which seemed to be associated with smoking. They were
on chromosomes 3, 6, 10 and 14, suggesting that at least four genes are involved. Dr. Vink
hopes that finding genes responsible for nicotine dependence will make it possible to identify
the causes of such dependence. That will help to classify smokers better (some are social
smokers while others are physically addicted) and thus enable “quitting” programs to be cus-
tomized.

Results such as Dr. Vink’ s must be interpreted with care. Association studies, as such

addiction, then Mark Twain’s problem may eventually become a thing of the past.
36. Mark Twain is mentioned in the passage in order to show that

[ A] he is a man with very strong will power.

[B] it is easy to give up smoking temporarily.

[ C] famous writers are often heavy smokers.

[ D] only few people have his determination.
37. The major difference between Dr. Vink and other geneticists is that

[ A] her research is not based on the study of twins but on questionnaires.
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